O®
@®

FASTENERS TORQUE SPECIFICATIONS
FASTENER AND FASTENER
HOLE NO. PART NO. SIZE APPLICATION N-m LB-FT
1A N804 113 M8 x 1.25 x 43.5 F/CTOBLOCK 20-30 15-22
2A N804113 M8 x 1.25 x 43.5 F/CTOBLOCK 20-30 15-22
3A N804811 M8 x 1.25x 70 W/P&F/CTO 20-30 15-22
BLOCK
4A N804811 M8 x 1.25 x 70 W/P&F/CTO 20-30 15-22
BLOCK
5A N605909 M8 x 1.25 x 42 F/CTOBLOCK 20-30 15-22
6A NB04811 M8 x 1.25x 70 W/P&F/CTO 20-30 15-22
BLOCK
7A NB04811 M8 x 1.25 x 70 W/P&F/CTO 20-30 15-22
BLOCK
8A N804811 M8 x 1.25 x 70 W/P&F/CTO 20-30 15-22
BLOCK
9A N804811 M8 x 1.25 x 70 W/P&F/CTO 20-30 15-22
BLOCK
10A N606543 M8 x 1.25 x 52 F/C TO BLOCK 20-30 15-22
118 NB04576 M6 x 1x 28.5 W/PTOF/C 8-12 71-106 (Ib-in)
128 NB04576 M6 x 1x28.5 W/PTOF/C 8-12 71-106 (Ib-in)
138 NB04576 M6 x 1x 28.5 W/PTOF/C 8-12 71-106 (Ib-in)
14B NB04576 M6 x 1x 28.5 W/PTOF/C 8-12 71-106 (Ib-in)
158 NB04576 M6 x 1x 28.5 W/PTOF/C 8-12 71-106 (Ib-in)

W/P—Water Pump
F/C—Engine Front Cover




